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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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(b)
(c)
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Define a process which is used to carry a low frequency signal for a
long distance. What is the requirement of it?

Define the following terms.

(1)Noise Figure (2) Shot Noise (3) Phase Modulation

Derive the voltage equation for an AM wave. Show the waveforms

and frequency spectrum of it.

Draw and explain the block diagram of Super heterodyne AM radio
receiver.
Explain Transistorised High Level AM modulator circuit with input
and output waveforms.

OR
The AM transmitter output voltage is given by the equation
e(t) =(400+160 sin 10* 7 t)sin10° 7 t Volt, when it is fed by the 500Q2
resistance. Find (1) fisp (i1) fuss (ii1)) BW (iv) % m (v) Pr.

Explain the basic principle of Reactance Modulator. Draw the circuit
diagram of Transistor Reactance Modulator for FM.
Compare Frequency modulation with Amplitude modulation.

OR
Draw and explain the block diagram of Indirect method used for FM
generation
A single-tone FM signal is given by
e(t) = 10sin(18mx 10t + 20sin10* 7 t) Volt. Determine
(1) modulation index (i) frequency deviation (iii) Bandwidth
(iv)What power will this FM wave dissipate in 10 Q resistance?

What is Demodulation? Explain envelop detector circuit in details.
Explain the Foster-seeley discriminator with phasor diagram.

OR
Explain different types of RF convertors stage with circuit diagrams.
Draw and explain the block diagram of FM receiver.

Explain the Yagi-Uda antenna with neat diagram
What is fading? Explain different diversity techniques.

OR
Explain the working of Horn antenna and its application.
Explain the following term in brief: (i) MUF (i1) Skip distance
(ii1) Duct propagation
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